EARAROBEEIERT — 2 N— IBISH —F

20195 7H230 (K) 9EI£IR4H

Il S>%—f# C24 B R
[A&4] 1 %:250,00 ~ 23%&:57,000M” ~ 33#%&:30,000H  43#%:22,000M  57%:15,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; . o4 | HEB 1:40.0 1-1-1-1 |39.3| — 4 496 | [II7RBASL (£R)
11717 HTrA3 56?0 (=) (+2) (R) J P N+
L:yA7% B:YCT47RT—IL (B) HA-FL—-ya>aEI7
S = A 4 6 | BIURTF 1:40.3 4-3-2-2 [39.3| — 9 417 | ESF (£R)
EE A 96.0 (1172) © | @ Fr-ztevar
RFHYTTIIRE B v—Txy Y =¥ T L
$ N _ 410 | PR 1:40.8 4-6-4-4 |39.3| — 6 457 | BAE (£R)
3178 NELT Ay [\ 0 (2 1/2) (+2) eSS
it /IR BiZa—-T742K DEAHTT— L
o S s Ho4 | BRAA 1:41.1 4-5-8-5 |39.2| — 8 468 | DIEEFIER (£IR)
4 4|/ NBIVHZT > 56.0 (1 1/2) o |, 00 SP=Z hETR
L:N=Y7514 B:RybhLyIX "HBET7—L4
» N N . _0_0_ _ | 5
5011 |F1YEXRFT7AX o4 | RITR 1(.34/14.)2 2-2-2-3 [ 40.2 2 3030) iugé (#1R)
R:vNyBLhTr BTIRIVIS =liztae]
$BARKR— : —8-7- = SEE= (£R)
6155 IYF7—F 4 s 1.(431).8 7-8-7-7 | 39.7 5 (4+315) e
RL:Z27)—>k—A— B:INY23vT AHE EE
N .~ BEMALA : —7-6— - 2XE (£R)
7 617y K3 i 5 B 1.(432).4 8-7-6-8 | 40.4 1 (5_271) e
LNX—HINK B X/ —)XL—K NIENTT— L
o . . EFREA : -9-9- — HNEEFNZE (£IR)
N - BB As "4ED L e i T oy |
RZ:d—IW K7 2—Ib B:RILNZIL HHE EE
N . 4 4 | SUESE 1:43.7 3-4-5-6 |42.3| — 7 482 | DNEEFNE (£R)
918|9| VTN =)k 6.0 ®) 43 | ) Tr—zhEvar
R:TIRATTaN B TI/TFHLT e
e o 4 | M@EfET - = — | = | = | = |ZHEuE @R
#(8|10| 71T A L= “f %0 (BH) o | e
LN—E>Tv— B:VvXbby—by— ERNS
® 1—F—@EBIERL
12—4— |7,1,9,(2,4,8),5,(3,6)
23— — 7,1,2,9,4,8,6,5,3
Ja=5= 7,(1,2),8,9,6,5,4,3
40—F— 7,2,1,8,4,9,5, (3,6)
[ N5
B 7 670M 714K 2-7 1,610 e E 2-7 4,360 JEE 2-7-8 20,450/
B B 7 230M 7-8 1,030 e B 7-2 9,340M JEE 7-2-8 172,740M
2 4704 2-8 1,660M B & 2-7 7,680
8 290M B H 7-2 12,100

ABICOVWTRDTEEERROODE. TR LIV,




